User’s Manual

Mobile Work Bench

62808

the

tool

experts

lllustration similar, may vary depending on model

Read and follow the operating instructions and safety information before using for the first time.

Technical changes reserved!
lllustrations, functional steps, and technical data may deviate insignificantly due to continuous further
developments.

Updating the documentation
If you have suggestions for improvement or have found any irregularities, please contact us.



the

tool

experts

The information contained in this document may alter at any time without prior notice. No part of this
document may be copied or otherwise duplicated without prior written consent. All rights reserved.
WilTec Wildanger Technik GmbH cannot be held liable for any possible mistakes in this operating man-
ual, nor in the diagrams and illustrations shown.

Although WilTec Wildanger Technik GmbH has made every possible effort to ensure that this operating
manual is complete, accurate, and up-to-date, errors cannot be ruled out entirely.

If you have found an error or wish to suggest an improvement, we look forward to hearing from you.
Send us an e-mail to:

service@wiltec.info

or use our contact form:

https://www.wiltec.de/contacts/

The most recent version of this manual in several languages can be found in our online shop:

https://www.wiltec.de/docsearch

Our postal address is:

WilTec Wildanger Technik GmbH
Kdnigsbenden 12
52249 Eschweiler — Germany

To return your goods for exchange, repair, or other purposes, please use the following address. Atten-
tion! To allow for a trouble-free complaint or return, it is important to contact our customer service team
before returning your goods.

Retourenabteilung

WilTec Wildanger Technik GmbH
Koénigsbenden 28

52249 Eschweiler — Germany

E-mail: service@wiltec.info
Tel: +49 2403 55592—0
Fax: +49 2403 55592—15

https://www.XPOtool.com Iltem 62808 Page 2
The Tool Experts
12 20221


mailto:service@wiltec.info
https://www.wiltec.de/contacts/
https://www.wiltec.de/docsearch

tool 1]

Introduction

Thank you for choosing to purchase this quality product. To minimise the risk of injury, we ask you to
always take some basic safety precautions when using this product. Please read this operating manual
carefully and make sure that you understand it.

Keep these operation instructions in a safe place.

Safety instructions

e Check the contents and make sure that all components are included and undamaged.
¢ Remove all plastic bags and packing material and eliminate them in a safe manner.
o Keep the user’'s manual for future reference.
e Before using the device, check that all screws and nuts are tight.
e Do not climb onto the work bench, do not use it as ladder or tray.
o Never exceed the capacity of the work bench. The maximum capacity of the work bench is
100 Kkg.
e Make sure that the work bench is placed on a firm and stable surface before using it.
¢ Do not use the work bench in case the case, plate, height adjusting mechanism, or inclination
mechanism is damaged.
o Never place hot tools directly onto the surface of the work bench.
¢ Always make sure that all adjustable components (height, inclination) are quick-locked before
using the work bench.
¢ Do not work on parts that are more than 10 cm away from the border of the surface.
o Distribute the weight of the charge evenly on the surface of the work bench. Any uneven weight
distribution might lead to the work bench tipping over.
Parts list
Ne Figure Name Qty.
1 Work-bench top with sliding bar 1
O . T .
2 | Elevating rod with inclination adjustment 2
3 m Leg frame 2
I g A : I A=1
4,5 Cross bars Aand B B=2
LSA e |
6 WZ@ Height adjustment knob 2
7 £ 7 Paddle 1
8 — = Elevating swing bar 1
9 @ Large clamp 4
https://www.XPOtool.com Iltem 62808 Page 3

The Tool Experts

12 2022-1




the

tool

experts
L

)
Jwe)

10 % Small clamp 4

1 @@@@@@@@ M6x40 hex bolt 12

12 @(@@@@@@@ M6x35 hex bolt 4

13 i,@ M6 hex nut 16

X
14 @@@@@@@@ M6x10 hex bolt 4
15 i,@ M6 safety hex nut 4
AN
16 M6 washer 20

Assembly diagram

Tools needed

e 10 mm wrench
e 13 mm wrench
e Hammer

10 Step 7
14, 15, 16

https://www.XPOtool.com Iltem 62808 Page 4

The Tool Experts
12 20221



the

tool

experts

Assembly instructions

Make sure that you have all necessary components, then lay them out in a tidy assembly area.

2. Open both legs (3) and fix the two B cross bars (5) to the back legs with the M6x40 hex
bolts (11), M6 hex nuts (13), and M6 washers (16) through the pre-drilled holes using the 10 mm
wrench. Attach the paddle (7) to the front side using the same method.

3. Remove the pre-attached M8 safety nuts from the bottom of the two swing rods using a 13 mm
wrench. Attach the elevating swing bar (8) to the swing rods and re-place the M8 safety nuts.
Tighten the two top nuts and the two safety nuts on the elevating swing bar.

4. Attach the A cross bar (4) to the two elevating rods (2) with M6x35 hex bolts (12), M6 hex
nuts (13), and M6 washers (16). Make sure that the seven pre-drilled holes on both elevating
rods are on the same side and the adjusting knobs are on the outside of the assembly.

5. Pull the elevating swing bar backwards and insert the elevating rod assembly into the frame
tubes ensuring that the latches on the swing rods fit into the holes on the elevating rods.

6. Attach the height fixing knobs (6) to the two legs and tighten them.

7. Lay the work bench top (1) onto the top of the elevating rod assembly. Ensure the frame of the
bench top sits outside the tops of the legs. Attach the plate using M6x10 hex bolts (14), M6
safety hex nuts (15), and M6 washers (16).

8. Large clamps (9) can now be inserted into the upper notches. Pull the large clamp (9) upwards
and turn it around to adjust its angle as required.

9. Small clamps (10) can be inserted into the side notches as required.

Features

Height adjustment (seven levels)

Turn the height adjustment knobs counter-clockwise on each leg to loosen (Fig. 1).

Pull the elevating swing bar back with your foot to disengage the two hooks and adjust the
height of the bench upwards (Fig. 2) or downwards (Fig. 3).

Use the elevating swing bar to ensure that the two hooks are re-engaged into the two holes of
the elevating rods adjustment.

Turn the height fixing knobs clockwise on each leg to tighten (Fig. 4).

Note! Make sure that the height fixing knobs are tight before using the workbench.

https://www.XPOtool.com Iltem 62808 Page 5
The Tool Experts

12 2022-1



experts

J

Adjustment of the inclination angle (four levels)

e For normal use, the bench top is set to a horizontal position; however, the top can also be
adjusted to 25°, 50°, and 80°.

¢ Make sure that the inclination adjustment knobs are completely unscrewed.

e Push the two adjustment knobs in simultaneously and tilt the bench top until the knobs engage
into the next set of pre-set guide holes (Fig. 5).

e Turn the inclination adjustment knobs clockwise to tighten the bench top and hold the desired
position.
Note! Make sure that the inclination adjustment knobs are tight before using the work bench.
Use the pre-set guide holes only.

r ]

Bench top adjustment

e To adjust the bench top, pull up both levers on each sliding bar and slide forwards or backwards
as desired (Fig. 6).
e Make sure that the mechanism is securely engaged in the holes in both sliding bars.

Important Note:

Reproduction and any commercial use (of parts) of this operating manual, requires a written permission
of WilTec Wildanger Technik GmbH.

https://www.XPOtool.com Iltem 62808 Page 6
The Tool Experts

12 2022-1



